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Proposal
The LC feature needs to work regardless of whether the RAN node operates normally or as a primary cell of a dual connectivity scenario. 

In dual connectivity scenario in Rel-15 the secondary node can behave like this:

Option 3,3a in the case of a secondary node supporting E-UTRAN

Option 3,3a,3x in the case of a secondary node supporting NR

When Option 3 is supported, traffic always traverses the primary cell where the control plane is handled. So inactivity detection is local to the control plane node.

In the case of options 3a and 3x, all the traffic can be routed via the secondary cell group. This means that the control pane node (primary cell group) is unaware whether traffic is being served by the secondary cell group. The primary cell group need therefore to have ways to detect inactivity also in DC case 3a and 3x. If the EPS does not support LC, the behaviour is to detect inactivity and then release the secondary cell group involvement with the UE by indicating to the Primary cell group the UE connection needs release due to inactivity. When LC is introduced SA2 needs to discuss whether the same behaviour needs to be followed (and in that case the data path is transferred back to the primary cell group, or the data path is retained and therefore new X2 messages are required to report inactivity.
It is proposed capture in TR 23.723 the following text 

#################### START CHANGE IN TR 23.723 #########################
5.x
Issue #x: Inactivity detection in dual connectivity 
The LC feature needs to work regardless of whether the RAN node operates normally or as a primary cell of a dual connectivity scenario. 

In dual connectivity scenario in Rel-15 the secondary node can behave like this:

Option 3,3a in the case of a secondary node supporting E-UTRAN

Option 3,3a,3x in the case of a secondary node supporting NR

When Option 3 is supported, traffic always traverses the primary cell where the control plane is handled. So inactivity detection is local to the control plane node.

In the case of options 3a and 3x, all the traffic can be routed via the secondary cell group. This means that the control pane node (primary cell group) is unaware whether traffic is being served by the secondary cell group. This means that inactivity detection can only occur in the secondary Cell group but the control plane is in the primary cell group and LC state transition in c plane needs activity information as basis for decision.
The primary cell group need therefore to have ways to detect inactivity also in DC case 3a and 3x.
If the EPS does not support LC, the behaviour is to detect inactivity and then release the secondary cell group involvement with the UE by indicating to the Primary cell group the UE connection needs release due to inactivity. When LC is introduced SA2 needs to discuss whether the same behaviour needs to be followed (and in that case the data path is transferred back to the primary cell group, or the data path is retained and therefore new X2 messages are required to report inactivity).
This issue should aim at identifying solutions and select the one that is appropriate.
#################### End of change in TR 23.7de #########################
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